
OLYMPIC WEIGHT STORAGE

The Olympic Flat Bench shown is 
is for reference only.

Page 1



ITEM QTY. PART NO. Paragon P/N DESCRIPTION CHINESE DESCRIPTION
1 1 52923PA-A P20-3051 PTD ASSY, OWS RIGHT 右立管組
2 1 53014PA-A P20-3050 PTD ASSY, OWS, LEFT 左立管組
3 8 2003001 WASHER, 3/8" SAE CURVED 弧形華司
4 8 2006401 BOLT, 3/8-16 X 3/4" (19mm) SOCKET HEAD W/NP 六角承窩螺絲 3/8"x 3/4"L
5 1 5292301-8 P04-2924 OWS WELDMENT, RIGHT 右立管 
6 2 5257201-A P06-2203 RUBBER FOOT PAD 橡膠墊
7 4 5278501-B P06-2207 PLASTIC SLEEVE 塑膠管
8 4 5292901-A P06-2265 WEIGHT PLATE BUMPER 橡膠墊
9 4 BOLT, 3/8-16 X 1" (25mm) SOCKET HEAD W/NP 六角承窩螺絲 3/8"x 1"L 點耐落
10 4 2001101 WASHER, FLAT 3/8 SAE ST ZN 平面華司 20X10.5X1.0T
11 1 5301401-4 P04-2923 OWS WELDMENT, LEFT 左立管組

Page 2

PARTS LIST



The Olympic Flat Bench shown
is for reference only.

1

2

3
4

#2 P/N 53014PA-A PTD ASSY, OWS, LEFT
#1 P/N 52923PA-A PTD ASSY, OWS, RIGHT

9

7
10

8

6

5

9
10

7

8
11

6

Page 3


	P00-0557 - 圖頁1
	P00-0557 - 圖頁2
	P20-3050 - 圖頁1
	P20-3051 - 圖頁1

